

For example, for non-negative g, and
non-decreasing, right-continuous F,

$$\int_{a}^{b} g(x) dF(x) = \lim \sum_{i=1}^{n} g(x_i) [F(x_i) - F(x_{i-1})].$$
where the limit is taken over all $\underline{a=x_0 \le x_1 \le \cdots \le x_n = b}$ as $\underline{n \to \infty}$
and $\max_{i=1,\dots,n} (x_i - x_{i-1}) \to 0.$

$$= \mathbb{E} [\text{Recall. The integral of g over (a, b] is defined as}$$

$$\int_{a}^{b} g(x) dx = \lim \sum_{i=1}^{n} g(x_i) (\underline{x_i - x_{i-1}}).]$$
Note.

$$= g(X_1, \dots, X_n) = \underline{X}_{b} \Rightarrow E[g(X_1, \dots, X_n)] = \underline{E}(\underline{X}_{b}) = \underline{\mu}_{\underline{X}_{a}}.$$

$$= \underline{g}(X_1, \dots, X_n) = (\underline{X}_{-\mu} - \underline{X}_{\lambda})^{2} \Rightarrow E[g(X_1, \dots, X_n)] = \underline{Var}(\underline{X}_{2}) = \underline{\sigma}_{\underline{X}_{\lambda}}^{2}.$$

$$= \underline{Example} (Average distance between two points). Suppose that$$

$$X, Y \text{ are i.i.d.} \sim \underline{Uniform}(0, 1).$$
Let $\underline{D} = |\underline{X} - \underline{Y}|$. Find $\underline{E}(\underline{D}).$

$$= \frac{1}{n + 0} \int_{0}^{1} \frac{1}{2} |\underline{x} - \underline{y}| dydx = \int_{0}^{1} \left[\int_{0}^{1} (x - y) dy + \int_{x}^{1} (y - x) dy \right] dx$$

$$= \int_{0}^{1} \left[-\frac{1}{2} (y - x)^{2} \Big|_{y=0}^{y} + \frac{1}{2} (y - x)^{2} \Big|_{y=x}^{y} \right] dx$$

$$= \int_{0}^{1} \frac{1}{2} [x^{2} + (1 - x)^{2}] dx = \frac{1}{6} [x^{3} - (1 - x)^{3}] \Big|_{x=0}^{1} = \frac{1}{3}.$$

$$= \frac{1}{n + 0} \int_{\mathbb{R}^{n}} a_{0} dF_{\underline{X}}(x) + a_{1} \int_{\mathbb{R}^{n}} x_{n} dF_{\underline{X}}(x)$$

$$= \int_{\mathbb{R}^{n}} a_{0} dF_{\underline{X}}(x) + a_{1} \int_{\mathbb{R}^{n}} x_{n} dF_{\underline{X}}(x)$$

$$= a_{0} + a_{1}E(X_{1}) + \dots + a_{n}E(X_{n}).$$







$$\begin{split} & \succ \textbf{Example. If } (\underline{X}_1, \dots, \underline{X}_m) \sim \textbf{Multinomial}(n, \underline{m}, p_1, \dots, p_m), \textbf{then}^{\texttt{h}\texttt{strint}} \\ & \underline{Cov}(\underline{X}_i, \underline{X}_j) = -np_ip_j, \quad \text{for } 1 \leq i \neq j \leq m. \\ & \bullet \text{Because } (X_1, X_2, \underline{X}_3 + \dots + \underline{X}_m) \sim \\ & \underline{Multinomial}(n, 3, p_1, p_2, p_3 + \dots + p_m), \text{ and} \\ & \underline{X}_3 + \dots + \underline{X}_m = n - \underline{X}_1 - \underline{X}_2, \qquad \underline{p}_3 + \dots + p_m = 1 - p_1 - p_2, \\ & \text{we have} \\ & E(\underline{X}_1 \underline{X}_2) = \sum \underline{x}_1 \underline{x}_2 (\underline{x}_1, \underline{x}_2, n - \underline{x}_1 - \underline{x}_2) p_1^{x_1} p_2^{x_2} (1 - p_1 - p_2)^{n - x_1 - x_2} \\ & = \sum x_1 x_2 \overline{x}_1 \overline{x}_2 \overline{x}_1 \overline{x}_2 (\underline{x}_1, \underline{x}_2, n - \underline{x}_1 - \underline{x}_2) p_1^{x_1} p_2^{x_2} (1 - p_1 - p_2)^{n - x_1 - x_2} \\ & = \sum x_1 x_2 \overline{x}_1 \overline{x}_2 \overline{x}_1 \overline{x}_1 \overline{x}_2 \overline{x}_1 \overline{x}_2 \overline{x}_1 \overline{x}_1 \overline{x}_2 \overline{x}_1 \overline{x}_1 \overline{x}_2 \overline{x}_1 \overline{x}_1 \overline{x}_1 \overline{x}_2 \overline{x}_1$$



• Corollary. Suppose that
$$X_{12}, \dots, X_{n}$$
 are uncorrelated and have^{bus}
same mean μ and variance $\overline{\sigma}^{*}$. Let
$$S^{2} = \frac{\sum_{i=1}^{n} (X_{i} - \overline{X}_{n})^{2}}{n-1},$$
then $\underline{E(S^{2})} = \overline{\sigma}^{*}.$
Proof. $(n-1)S^{2} = \sum_{i=1}^{n} (X_{i} - \overline{X}_{n})^{2}$
 $= \sum_{i=1}^{n} ((X_{i} - \mu) - (\overline{X}_{n} - \mu))^{2}$
 $= \sum_{i=1}^{n} (X_{i} - \mu)^{2} + [\sum_{i=1}^{n} (\overline{X}_{n} - \mu)^{2}]$
 $-2(\overline{X}_{n} - \mu) [\sum_{i=1}^{n} (X_{i} - \mu)]$
 $= [\sum_{i=1}^{n} (X_{i} - \mu)^{2}] + n(\overline{X}_{n} - \mu)^{2} - 2n(\overline{X}_{n} - \mu)^{2}$
 $= [\sum_{i=1}^{n} (X_{i} - \mu)^{2}] - n(\overline{X}_{n} - \mu)^{2}.$
Therefore,
 $(n-1)E(S^{2}) = -\left\{\sum_{i=1}^{n} E\left[(X_{i} - \mu)^{2}\right]\right\} - nE\left[(\overline{X}_{n} - \mu)^{2}\right]$
 $= n\sigma^{2} - nVar(\overline{X}_{n}) = (n-1)\sigma^{2}.$
HIHU MATH 2810, 2024. Lecture Notes
made by S. W. Cherg [NHU Towon)
• Note. The previous three corollaries also hold if
 X_{1}, \dots, X_{n} are "uncorrelated" is replaced by
"independent."
• Theorem (ρ of linear transformation).
 $Cor(a_{0}+a_{1}X, b_{0}+b_{1}Y)=sign(a_{1}b_{1})\times Cor(X, Y),$
and
 $|Cor(a_{0}+a_{1}X, b_{0}+b_{1}Y)|=|Cor(X, Y)|,$
i.e., $|\rho_{XY}|$ is invariant under location and scale
changes.
Proof. Let $S=a_{0}+a_{1}X$ and $\underline{T}=b_{0}+b_{1}Y$, then
 $\underline{Cov(S, T)}=Cov(a_{0}+a_{1}X, b_{0}+b_{1}Y)=a_{1}b_{1}Cov(X, Y),$
 $\underline{Var(S)}=a_{1}^{2}Var(X), and \underline{Var(T)}=b_{1}^{2}Var(Y).$
Therefore,
 $\underline{\rho_{ST}}=\frac{Cov(S,T)}{\sigma_{S}\sigma_{T}}=\frac{a_{1}b_{1}Cov(X,Y)}{|a_{1}||b_{1}|\sigma_{X}\sigma_{Y}}=\frac{a_{1}b_{1}}{|a_{1}b_{1}|}\rho_{XY}.$

Theorem (some properties of
$$\rho$$
).
(1) $-1 \le \rho_{XY} \le 1$. ($\Leftrightarrow |Cov(X, Y)| \le \sigma_X \sigma_Y$)
(2) $\rho_{XY} = \pm 1$ if and only if there exist $a, b \in \mathbb{R}$
such that $\underline{P}(Y=aX+b)=1$.
(3) Furthermore, $\rho_{XY}=1$, if $a \ge 0$ and $\rho_{XY}=-1$, if $a \le 0$.
Proof of (1).
 $0 \le Var\left(\frac{x}{\sigma_X} + \frac{Y}{\sigma_Y}\right)$
 $= Var\left(\frac{x}{\sigma_X}\right) + Var\left(\frac{Y}{\sigma_Y}\right) + 2Cov\left(\frac{X}{\sigma_X}, \frac{Y}{\sigma_Y}\right)$
 $= \frac{Var(X)}{\sigma_X^2} + \frac{Var(Y)}{\sigma_Y^2} + 2\frac{Cov(X,Y)}{\sigma_X\sigma_Y}$
 $= 1+1+2\rho_{XY} \Rightarrow \rho_{XY} \ge -1$.
Similarly,
 $0 \le Var\left(\frac{x}{\sigma_X} - \frac{Y}{\sigma_Y}\right) = 1+1-2\rho_{XY} \Rightarrow \rho_{XY} \le 1$.
Proof of (2) and (3). We see from the proof of (1),
NTHU MAT 280, 2024. Lectore Notes
made by S. W. Cheon (NTHU, Talwan)
 $\rho_{XY} = 1 \Leftrightarrow Var\left(\frac{x}{\sigma_X} - \frac{Y}{\sigma_Y}\right) = 0$,
 $\Rightarrow P\left(\frac{x}{\sigma_X} - \frac{Y}{\sigma_Y} = c\right) = 1$,
where c is a constant.
 $\Rightarrow P\left(Y = \frac{\sigma_X}{\sigma_X} + c\sigma_Y\right) = 1$.
Similarly, $\rho_{XY} = -1 \Leftrightarrow P\left(Y = -\frac{\sigma_Y}{\sigma_X} X + c\sigma_Y\right) = 1$.
• Q. How to use expectations to (roughly) characterize the
distribution of random variables X_1, \dots, X_n ?
 $\Rightarrow g(X_1, \dots, X_n) = (X_i - \mu_X)^2 \Rightarrow E[g(X)] = \frac{\sigma_{X_i}}{\sigma_X} : variance} \text{ of } X_i$.
 $\Rightarrow g(X_1, \dots, X_n) = (X_i - \mu_X)^2 \Rightarrow E[g(X)] = \frac{\sigma_{X_i}}{\sigma_X} : variance} \text{ of } X_i$.
 $\Rightarrow g(X_1, \dots, X_n) = [(X_i - \mu_X)/(X_j - \mu_X)] \text{ for } i \neq j$
 $\Rightarrow E[g(X)] = \frac{\sigma_X, x_i}{\sigma_X} : covariance} \text{ of } X_i \text{ and } X_j$.
 $\Rightarrow E[g(X)] = \frac{\rho_{X_i}, \sigma_X, \sigma_X, \sigma_X, \rho_X, \rho_X, \sigma_X}{\sigma_X} : econstants, not random
 \diamond Reading textbook, See 71, 72, 74, 79$





Example. If a sample of n balls is drawn without replacement $p. 8-23$
from a box containing <u>R</u> red balls, <u>W</u> white balls, and <u>N-R-W</u>
blue balls. Let
$\underline{X} = \underline{\# \text{ of red balls}}$ in the sample,
$\underline{Y} = \underline{\# \text{ of white balls}}$ in the sample,
then, the joint pmf of (X, Y) is
$p_{X,Y}(x,y) = \frac{\binom{x}{y}\binom{y}{n-x-y}}{\binom{N}{n}},$ <u>Find $E_Y(Y)$.</u>
Sol. Because $\underline{Y X=x} \sim \underline{\text{hypergeometric}}(\underline{n-x}, \underline{N-R}, \underline{W})$,
$g(\underline{x}) \equiv \underline{E}_{Y X}(Y X=x) = (n-\underline{x})[W/(N-R)].$
Because $\underline{X} \sim \underline{\text{hypergeometric}}(\underline{n}, \underline{N}, \underline{R}) \Rightarrow \underline{E}_{\underline{X}}(\underline{X}) = n(R/N)$, and
then $\underline{E_Y}(Y) = \underline{E_X}[\underline{E_Y} X] = E_X[g(\underline{X})]$
$= \underline{E}_{X} \left (n - \underline{X}) \frac{W}{N-R} \right = \frac{W}{N-R} [n - \underline{E}_{X}(X)]$
$= \frac{W}{N-R} \left(n - n\frac{R}{N} \right) = n\frac{W}{N}.$
Note that $Y \sim \text{hypergeometric}(\overline{n, N, W}) \Rightarrow E_Y(Y) = n(W/N).$
NTHU MATH 2810, 2024, Lecture Notes
• Theorem (Variance Decomposition). For Y Y Y
two random vectors \underline{X} and \underline{Y} ,
$Var_{\mathbf{Y}}(Y_i)$
$= \underline{Var_{\mathbf{X}}}[E_{\mathbf{Y} \mathbf{X}}(Y_i \mathbf{X})]$
$+ E_{\mathbf{X}}[\overline{Var}_{\mathbf{Y} \mathbf{X}}(Y_{i} \mathbf{X})].$
$\underline{Proof.} \underline{Var_{\mathbf{Y} \mathbf{X}}}(Y_i \underline{\mathbf{x}}) = \underline{E_{\mathbf{Y} \mathbf{X}}}(\underline{Y_i^2} \underline{\mathbf{x}}) - [\underline{E_{\mathbf{Y} \mathbf{X}}}(\underline{Y_i} \underline{\mathbf{x}})]^2,$
and, $\underline{E}_{\mathbf{X}}[Var_{\mathbf{Y} \mathbf{X}}(Y_i \mathbf{X})]$
$= \underline{E_{\mathbf{X}}}[E_{\mathbf{Y} \mathbf{X}}(Y_i^2 \underline{\mathbf{X}})] - \underline{E_{\mathbf{X}}}\{[E_{\mathbf{Y} \mathbf{X}}(Y_i \underline{\mathbf{X}})]^2\}.$
Also, $\underline{Var_{\mathbf{X}}}[\underline{E_{\mathbf{Y} \mathbf{X}}}(Y_i \mathbf{X})]$
$= \underline{E}_{\mathbf{X}} \{ [\underline{E}_{\mathbf{Y} \mathbf{X}}(Y_i \mathbf{X})]^2 \} - \{ \underline{E}_{\mathbf{X}} [\underline{E}_{\mathbf{Y} \mathbf{X}}(Y_i \mathbf{X})] \}^2.$
Now, $\underline{Var_{\mathbf{Y}}}(Y_i) = \underline{E_{\mathbf{Y}}}(Y_i^2) - [\underline{E_{\mathbf{Y}}}(Y_i)]^2$
$= \underline{E}_{\mathbf{X}}[\underline{E}_{\mathbf{Y} \mathbf{X}}(Y_i^2 \mathbf{X})] - \{\underline{E}_{\mathbf{X}}[\underline{E}_{\mathbf{Y} \mathbf{X}}(Y_i \mathbf{X})]\}^2$
$= E_{\mathbf{X}}[E_{\mathbf{Y} \mathbf{X}}(Y_i^2 \mathbf{X})] - E_{\mathbf{X}}\{[E_{\mathbf{Y} \mathbf{X}}(Y_i \mathbf{X})]^2\}$
$+E_{\mathbf{X}}\{[E_{\mathbf{Y} \mathbf{X}}(Y_{i} \mathbf{X})]^{2}\}-\{E_{\mathbf{X}}[E_{\mathbf{Y} \mathbf{X}}(Y_{i} \mathbf{X})]\}^{2}$ $-\frac{E_{\mathbf{Y} \mathbf{Y} \mathbf{Y} \mathbf{Y} }}{E_{\mathbf{Y} \mathbf{Y} \mathbf{Y} }}+\frac{1}{2}E_{\mathbf{Y} \mathbf{Y} \mathbf{Y} \mathbf{Y} }$
$- L_{\mathbf{X}}[v \ u \mathbf{Y} \mathbf{Y} \mathbf{X}(\mathbf{I}_{i} \mathbf{A})] + v \ u \mathbf{Y} \mathbf{X}[L_{\mathbf{Y}} \mathbf{X}(\mathbf{I}_{i} \mathbf{A})].$



• Theorem (best *constant* predictor under MSE).

$$E_{X,Y} (Y - \underline{c})^2 = E_Y(Y - \underline{c})^2 \ge E_Y[Y - \underline{E}_Y(Y)]^2 = Var_Y(Y)$$
The equality holds if and only if $\underline{c=E_Y(Y)}$.
Proof.

$$E_Y(Y - \underline{c})^2 = Var_Y(Y) + (\mu_Y - \underline{c})^2 \ge Var_Y(Y)$$
• Theorem (best predictor under MSE).

$$E_{X,Y}[Y - \underline{g}(X)]^2 \ge E_{X,Y}[Y - \underline{E}_{Y|X}(Y|X)]^2 = \underline{E}_X[Var_{Y|X}(Y|X)]$$
The equality holds if and only if $\underline{g}(\underline{x})=\underline{E}_{Y|X}(Y|X)$.
Proof. $E_{X,Y}[Y - \underline{g}(X)]^2 \ge E_{X,Y}[Y - \underline{E}_{Y|X}(Y|X)]^2 = \underline{E}_X[Var_{Y|X}(Y|X)]$
The equality holds if and only if $\underline{g}(\underline{x})=\underline{E}_{Y|X}(Y|X) - \underline{g}(X)$]²

$$= E_{X,Y}[Y - \underline{g}(X)]^2$$

$$= E_{X,Y}[Y - E_{Y|X}(Y|X)] + [E_{Y|X}(Y|X) - \underline{g}(X)]^2$$

$$= E_{X,Y}[Y - E_{Y|X}(Y|X)]^2 + \underline{E}_X[E_{Y|X}(Y|X) - \underline{g}(X)]^2$$

$$= E_{X,Y}[Y - E_{Y|X}(Y|X)]^2 + \underline{E}_X[E_{Y|X}(Y|X) - \underline{g}(X)]^2$$

$$\geq E_{X,Y}[Y - E_{Y|X}(Y|X)]^2 + \underline{E}_X[E_{Y|X}(Y|X) - \underline{g}(X)]^2$$

$$\geq E_{X,Y}[Y - E_{Y|X}(Y|X)]^2$$

$$= E_{X,Y}[Y - E_{Y|X}(Y|X)][E_{Y|X}(Y|X) - \underline{g}(X)]$$

$$= E_X [\frac{[E_{Y|X}(Y|X) - \underline{g}(X)]}{[E_{Y|X}(Y|X) - \underline{g}(X)]} = 0.$$
Furthermore,

$$E_{X,Y}[Y - E_{Y|X}(Y|X)][E_{Y|X}(Y|X) - \underline{g}(X)]]X^2$$

$$= E_X [E_{Y|X}\{|Y - E_{Y|X}(Y|X)] [E_{Y|X}(Y|X) - \underline{g}(X)]]X^2$$

$$= E_X [E_{Y|X}\{|Y - E_{Y|X}(Y|X)]^2$$

$$= E_X [E_{Y|X}\{|Y - E_{Y|X}(Y|X)] [E_{Y|X}(Y|X) - \underline{g}(X)] X^2$$

$$= E_X [E_{Y|X}\{|Y - E_{Y|X}(Y|X)] = E_X [E_{X|X}(Y|X)]$$

$$= Some notes for the best predictor in G_3$$

$$= E_{Y|X} [Y - E_{Y|X}(Y|X)]^2$$

$$= E_{X} [E_{Y|X}(Y|X) + E_{X}(Y|X)]^2$$

$$= E_{X} [E_{Y|X}(Y|X) + E_{X}(Y|X)] = E_{X} [E_{Y|X}(Y|X)]$$

$$= C_{Y|X}(Y|X) = C_{X}(Y|X)$$

$$= C_{X}(Y|X) = C_{X}(Y|X)$$

$$= C_{X}(Y|X) = C_{X}(Y|X)$$

$$= C_{X}(Y|X) = C_{X}(Y|X)$$

$$= C_{X}(Y|X) = C_{X}(Y|X)$$

$$=$$

• Theorem (best *linear* predictor under MSE).
• Theorem (best *linear* predictor under MSE).
•
$$E_{X,Y}[Y - (a + bX)]^2 \ge E_{X,Y} \left\{ Y - \left[\mu_Y + \rho_{XY} \frac{\sigma_Y}{\sigma_X} (X - \mu_X) \right] \right\}^2$$

= $\sigma_Y^2 (1 - \rho_{XY}^2)$
The equality holds if and only if $a=\mu_Y - b\mu_X$ and $b=\rho_{XY} \sigma_Y' \sigma_X$.
Proof. $E_{X,Y}(Y - a - bX)^2$
= $Var_{X,Y}(Y - a - bX) + [E_{X,Y}(Y - a - bX)]^2$
= $Var_{X,Y}(Y - bX) + (\mu_Y - a - b\mu_X)^2$
 $\geq Var_{X,Y}(Y - bX) + (\mu_Y - a - b\mu_X)^2$
 $\geq Var_{X,Y}(Y - bX) + (\mu_Y - a - b\mu_X)^2$
 $\geq var_{X,Y}(Y - bX) = (\Rightarrow \text{ setting } a = \mu_Y - b\mu_X)$
 $= \sigma_Y^2 + b^2 \sigma_X^2 - 2b \sigma_{XY}$
 $= \sigma_X^2 \left(b^2 - 2b \frac{\sigma_{XY}}{\sigma_X^2} + \frac{\sigma_{XY}^2}{\sigma_X^2}\right) + \sigma_Y^2 - \frac{\sigma_{XY}^2}{\sigma_X^2}$
 $= \sigma_X^2 \left(b - \frac{\sigma_{XY}}{\sigma_X^2}\right)^2 + \sigma_Y^2 (1 - \rho_{XY}^2)$
 $\geq \sigma_Y^2 (1 - \rho_{XY}^2) = (\Rightarrow \text{ setting } b = \frac{\sigma_{XY}}{\sigma_X} = \frac{\sigma_{XY}}{\sigma_X} \times \frac{\sigma_X}{\sigma_X} = \rho_{XY} \frac{\sigma_Y}{\sigma_X}$)
NHTHO MATH 2810, 2024, Locator Holds
made by S. W. Cherg (NTHU, Tawen) $\Rightarrow^{1.600}$
• Some notes for the best *linear* predictor in G_2
• $E_{MX}(Y|x) = \mu_Y + (\rho_{XX}\sigma_Y/\sigma_X)(x - \mu_X)$ if (X, Y) is distributed as
bivariate normal.
• Its calculation requires to know the means, variances, and
covariance of X and Y.
• $\sigma_Y^2(1 - \rho_{XY}^2)$ is small if ρ_{XY} is close to +1 or -1, and large if
 ρ_{XY} is close to 0.
• A comparison of these minimum MSEs
> min_{a,b} $E_{X,Y}[Y - (a+bX)]^2 \le \min_x E_{X,Y}[Y - (a+bX)]^2$ and the equality
holds if and only if $\rho_{XY} = 0$.
> ming $E_{X,Y}[Y - g(X)]^2 \le \min_a b E_{X,Y}[Y - (a+bX)]^2$ and the equality
holds if and only if $E_{Y,Y}(Y|x) = \mu_Y + (\rho_{XY}\sigma_X'\sigma_X'\sigma_X)(x - \mu_X)$.
• Reading: textbook, Sec 7.6
Moment Generating Function
• Definition (Moment and Central Moment). If a random variable X
has a odf F_X , then

$$\mu_{k} \equiv E(X^{k}) = \int_{-\infty}^{\infty} x^{k} dF_{X}(x), \quad k = 1, 2, 3, ...,$$

are called the k^{kh} moments of X provided that the integral converges
absolutely, and
$$\mu_{k}^{i} \equiv E[(X - \mu_{X})^{k}] = \int_{-\infty}^{\infty} (x - \mu_{X})^{k} dF_{X}(x), \quad k = 2, 3, ...,$$

are called the integral converges absolutely.
> Some notes.
• $\mu_{k}^{i} \equiv E[(X - \mu_{X})^{k}] = E\left[\sum_{i=0}^{k} {k \choose i} (-\mu_{X})^{k-i} X^{i}\right]$
 $= \sum_{i=0}^{k} {k \choose i} (-\mu_{X})^{k-i} E(X^{i}) = \sum_{i=0}^{k} {k \choose i} (-\mu_{X})^{k-i} \mu_{i}.$
• $\mu_{k}^{k} = E(X^{k}) = E\{[(X - \mu_{X}) + \mu_{X}]^{k}\}$
 $= \sum_{i=0}^{k} {k \choose i} (\mu_{X})^{k-i} E(X - \mu_{X})^{i}]$
 $= \sum_{i=0}^{k} {k \choose i} (\mu_{X})^{k-i} \mu_{i}^{j}.$
• In particular,
 $E(X) = \mu_{X} = \mu_{1}, \text{ and,}$
 $\frac{Var(X)}{V = \sigma_{X}^{2} = \mu_{2}^{j} = \mu_{2} - \mu_{1}^{2}.$
NTHUMENT 2810 2004 Lecture Notes
mode by S. W. Chang INTHU Tanwani
• The (central) moments give a lot of useful information
about the distribution in addition to mean and variance, e.g.,
• Skewness (a measure of the asymmetry): μ_{3}^{i}/σ^{3} .
• Kurtosis (a measure of the "heavy tails"): μ_{4}^{i}/σ^{4} .
• Example (Uniform). If $X \sim$ Uniform(0, 1), then
 $\mu_{k} = \int_{0}^{1} \frac{x^{k}}{x} dx = \frac{1}{k+1}.$
therefore, $\mu_{X} = \mu_{1} = 1/2$, and,
 $\sigma_{X}^{2} = \mu_{2} - \mu_{1}^{2} = 1/3 - (1/2)^{2} = 1/12.$
And, $\mu_{k}^{i} = \int_{0}^{1} (x - 1/2)^{k} dx = \int_{-1/2}^{1/2} \frac{x^{k}}{x} dz$
 $= \frac{1}{k+1} [(\underline{1/2})^{k+1} - (-1/2)^{k+1}] = \begin{cases} 0, \frac{1}{(k+1)^{2}}, & k \text{ is odd}, \\ \frac{1}{(k+1)^{2}}, & k \text{ is odd}, \end{cases}$



$$\begin{array}{c} \mathbf{a} \mbox{ If } X \sim \mbox{ negative binomial}(r, p), \\ M_X(t) = \left[\frac{pe^t}{1-(1-p)e^t}\right]^r, \mbox{ for } t < -\log(1-p). \\ \mathbf{a} \mbox{ If } X \sim \mbox{ uniform}(\alpha, \beta), \ M_X(t) = \frac{e^{\alpha t} - e^{\alpha t}}{t(\beta - \alpha)}. \\ \mathbf{a} \mbox{ If } X \sim \mbox{ gamma}(\alpha, \lambda), \\ M_X(t) = \left(\frac{\lambda}{\lambda - t}\right)^{\alpha}, \mbox{ for } t < \lambda. \\ \mathbf{a} \mbox{ If } X \sim \mbox{ beta}(\alpha, \beta), \ M_X(t) = 1 + \sum_{k=1}^{\infty} \left(\prod_{r=0}^{k-1} \frac{\alpha + r}{\alpha + \beta + r}\right) \frac{t^k}{k!}. \\ \mathbf{a} \mbox{ If } X \sim \mbox{ beta}(\alpha, \beta), \ M_X(t) = e^{\mu t + (\sigma^2/2)t^2}. \\ \hline \mbox{ Theorem (Uniqueness Theorem). Suppose that the mgfs } \underline{M_X(t)} \mbox{ and } \frac{M_Y(t)}{M_Y(t)} \mbox{ of random variables } \underline{X} \mbox{ and } \underline{Y} \mbox{ exist for all } |t| < h \mbox{ for some } h > 0. \\ \mbox{ If } \frac{M_X(t) = M_Y(t),}{M_X(t) = M_Y(t),} \mbox{ for } \frac{1}{E_X(2) = F_Y(2)} \mbox{ for all } z \in \mathbb{R}, \mbox{ where } \underline{F_X} \mbox{ and } \underline{F_Y} \mbox{ areas theorem of Laplace transform.} \\ \hline \mbox{ Mithul Mitri 2010, 2026 Learner Note:} \\ \mbox{ Network of the uniqueness theorem of Laplace transform.} \\ \hline \mbox{ When a mgf exists for all } |t| < h \mbox{ for some } h > 0, \mbox{ there is a unique distribution corresponding to that mgf.} \\ \hline \mbox{ This allows us to use mgfs to find distributions of transformed random variables in some cases.} \\ \hline \mbox{ This technique is most commonly used for linear combinations of independent random variables $X_1, \dots, X_n \\ \hline \mbox{ Example. If } \frac{M_X(t)}{0} = p_1 e^{\alpha t} + \dots + p_k e^{\alpha k}, \ \mbox{ where } p_1 + \dots + p_k = 1, \ \mbox{ theorem } n \\ \hline \mbox{ by } M_X(0) = 1, \ \mbox{ and } \underline{M_X(0)} = \mu_k, \ k = 1, 2, 3, \dots \\ \hline \end{tabular}$$$

$$\begin{array}{l} \begin{array}{l} \displaystyle \operatorname{Proof. First, } M_X(\underline{0}) = \int_{-\infty}^{\infty} e^{\underline{0}\cdot x} d\underline{F}_X(x) = \int_{-\infty}^{\infty} \underline{1} d\underline{F}_X(x) = \underline{1}. \overset{\mu + \pi \pi}{} \\ \displaystyle \frac{M_X'(\underline{0}) = \frac{d}{dt} M_X(t)}{\underline{1}_{t=0}} = \left[\frac{d}{dt} \int_{-\infty}^{\infty} \underline{e^{tx}} dF_X(x) \right] \Big|_{\underline{t=0}} \\ \displaystyle = \int_{-\infty}^{\infty} \left(\frac{d}{dt} e^{\underline{t}x} \Big|_{\underline{t=0}} \right) dF_X(x) = f_{-\infty}^{\infty} \left(\underline{x} \underline{e^{tx}} \Big|_{\underline{t=0}} \right) dF_X(x) \\ \displaystyle = \int_{-\infty}^{\infty} \underline{x} \cdot \underline{1} dF_X(x) = \underline{F}_X(X) = \mu_1. \\ & \dots = \dots \\ \\ \displaystyle \frac{M_X^{(k)}(\underline{0}) = \frac{d^k}{dt^k} M_X(t) \Big|_{\underline{t=0}} = \left[\frac{d^k}{dt^k} \int_{-\infty}^{\infty} e^{\underline{t}x} dF_X(x) \right] \Big|_{\underline{t=0}} \\ \displaystyle = \int_{-\infty}^{\infty} \left(\frac{d^k}{dt^k} e^{\underline{t}x} \Big|_{\underline{t=0}} \right) dF_X(x) = f_{-\infty}^{\infty} \left(\underline{x^k} \underline{e^{tx}} \Big|_{\underline{t=0}} \right) dF_X(x) \\ \displaystyle = \int_{-\infty}^{\infty} \underline{x^k \cdot \underline{1}} dF_X(x) = \underline{F}_X(X^k) = \mu_k. \\ \hline \\ \displaystyle \text{Example. If } X \sim \text{exponential}(\lambda) \text{ then } M_X(t) = \frac{\lambda}{\lambda - \underline{t}}. \\ \hline \\ \text{Because} \qquad M_X^{(k)}(\underline{t}) = \frac{k!\lambda}{(\lambda - \underline{t})^{k+1}}, \\ \text{we get} \\ \mu_k = M_X^{(k)}(\underline{0}) = \frac{k!}{\underline{X}}. \\ \hline \\ \hline \\ \begin{array}{c} \text{HTHOUMATP 2010, 2024, Lecture Notes} \\ made by S. W. Cheng (NTHOL Tawan) \\ \hline \\ \hline \\ \begin{array}{c} \text{Hoorem} (\text{MGF for linear transformation). For constants } \underline{a} \text{ and } \underline{b}, \overset{\mu + b 30}{\underline{t}}, \\ \hline \\ \hline \\ \begin{array}{c} M_{\underline{a} + bX}(t) = e^{\underline{at}} M_X(\underline{b}t). \\ \hline \\ \hline \\ \begin{array}{c} \text{Proof. } M_{\underline{a} + bX}(t) = E_X [e^{t(a + bX)}] = e^{\underline{at}} E_X [e^{(bt)X}] = e^{at} M_X(\underline{b}t). \\ \hline \\ \hline \\ \hline \end{array} \right$$

* Reading: textbook, Sec 7.7